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[% i % 6-10 8.7-9.4 9.1 P
FAHE (mg/) 100 <20 <20 kL
BEL P E (mg/) 10 <1 <1 Rk
RPEPIEE (mgl) 2000 410 - 1100 740 AL
il [ P ED (me/l) 10 <05-18 0.9 kL
aoC PR (me) 0.1 <0.040 <0.040 &L
R [ ARED (mg/l) 100 <15-20 16.0 kL
1 (me/h) 20 <10 <10 P
A e (mg/) 0.5 <0.3 <03 R
REREAHEE (mg/) 1 <0.6 <0.6 P
F PO IR (mgl) 15 <3-35 3.1 kL
(A B (mef) 2500 110 - 250 174 &L
B (mel) 200 20.3 - 44 29.7 KL
g (°0) 43 19-23 21.7 hl
EEIR Pu EIFEER | BRI R TN | BRI T P
HEEX 'R

fill (me/D) 2 <0.4 <0.4 £l
%1 (mg/) 5 <1 <1 L
5 (mg/l) 0.1 <0.1 <0.1 Rl
S (mell) 1 <0.3 <0.3 kL
it (mg/l) 2 <0.5-0.95 0.60 L
& (mgll) 2 <1 <1 P
& (mg/) 5 <0.2 <0.2 P
%< (mg/l) 0.05 <0.05 <0.05 Kk
S0 (mg/) 2 <1 <1 KL
=l (mg/) 2 <0.4 <0.4 P
&4 (mg/l) 5 <1 <1 L
& (mg/l) 2 <1 <1 L
T 2 B EN# (mef) 10 <7.0-74 7.1 &l
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i (mg/) 5 <1-2.1 1.6 ql

& (mg/) 10 <2 <2 L

B2

Aldrin (mg/]) 0.01 <0.01 <0.01 &L

BHCS (mg/]) 0.01 <0.01 <0.01 &L

B ek (mell) 0.01 <0.01 <0.01 KL

FHRME P

& 7 (mgfl) 0.1 <0.06 <0.06 &L

WRECAP

1,1,1-= g ¢ %€ (mg/l) 0.05 <0.025 <0.025 KL

LEIJ/E

% TR GRE (mg/)) 0.003 <0.003 <0.003 &L

B 5t 1% Yo

B TR EL (pe/D) | 10000 <10000 <10000 kL

58226 (pc/1) 30 <30 <30 kL

1290 (pe/l) 100 <100 <100 KL
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B (mg/m’) 30 0.0 - 0.4 0.0 P
Z & [Tk (mg/m) 200 0.0 - 1489 5.9 kL
B¥TE  (mg/m’) 60 0.1 - 223 2.1 Kl
i [~ & (mg/m’) 4 0.0-0.1 0.0 hL
PRl ]
(M) = & 2FED
(mg/m’) 400 36.2 - 186.1 104.5 L
ME AL (mg/m”) 20 0.0 - 73 0.1 kL
— F (" (mg/m’) 100 0.0 - 67.2 2.8 KL
(4 busm @
5 Fr  (mg/m’) 10 0.02 - 0.06 0.03 L
Z F [ (mg/m) 50 0.3 - 235 6.1 bl
B¥P% (mg/m)) 10 0.5 - 4.0 2.1 HL
(" & (mg/m) 1 0.00 - 0.03 0.00 kL
Pl
1= & (57D
(mg/nf) 200 745 - 1283 105.3 |
FE SR (mg/m) 10 0.01 - 0.65 0.14 FL
- S ﬁi’i(mg/m) 50 0.9-7.0 2.8 ol
(T'p  Hp
BREOP
(1) 3 % RV ED)
(mg/m’) 24 <54 <5.4 ol
RS AN
(V) g3 1= & 5 BERFED
(mg/m”) 18.8 <1.1 <1.1 kL
R (1) g PR E R
(mg/m’) 37.5 25.5 25.5 fL
i '%%(" @%ET) (mg/m’) 5.5 <0.188 <0.188 L
BORE(T & (mg/m) 5 <2.6 <2.6 L
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101.3 kPa ~

% £ I i g | AR
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LEHERCT- O
BEEE (Gl k-
£l (mg/m”) 0.05 <0.009 <0.009 FL
FEEL MO R
ﬁﬁ‘ (mg/m’) 0.06 <0.002 <0.002 Rl
R (G T
Bl (mg/m") 0.5 <0.063 <0.063 FL
%< (mg/m’) 0.05 <0.002 <0.002 kL
T (ng/m) 0.075 0.002 0.002 Bl
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5y #1355
% e () 8 (f (%L

) 12.2-12.7 12.5 FL
B 5T B (%) |30 (B (S

%) 61 - 88 73.7 P
HEES /1
&% (ppm) 0.5 <0.5 <0.5 KL
%< (ppm) 0.1 <0.02 - 0.08 0.023 Rk
S E (ppm) 10 <0.5 <0.5 &L
st (ppm) - <0.5-7.2 1.1
1 (ppm) - <0.5-24 0.6
%1 (ppm) - <1-12 15
& (ppm) - <0.5-2.7 0.6
%\%l\é_‘lz‘l\%j{lé[fj
HE (ppm) 25 <2.5-15 3.8 L
% (ppm) 20 <1-84 1.2 &L
% (ppm) 10 <5 <5 Rk
Z Bl £ (ppm) 10 <1-64 1.4 xl
& (=P (ppm) 5 <5 <5 &L
5y #15)
a1 T P G
& (ppm) 5000 <15 <15 Rl
(ppm) 10 <5 <5 Fol
A GO A
(ppm) 2 <2 <2 kL
2 E % (ppm) 1 <l <l kL
TCDD (ITEF ¥ )
(ppb) 1 <1 <1 Sl




